Spring Test 2
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Spring Test 2 (continued)

17 | 9/5203 18 | 20-4)+ 4=

19 | 6007 — — 2308 20 % X ;— -

21| 75 + = 5110 22| 6 X(5-2)=

U U

23| 8105 = X5 24| 5332+ =4

U U

25 | 752945 — 86582 = 26| 26 | 9906 (2 marks)
27 | 268 +868+14= 28 723 (2 marks)
) . X 86
\
Total marks /30
J
HOW We" did YOU do') * with correct place value | 21 | 25 | 27
Colour the numbers of the — with zeros 1Bl
questions you got correct. +orxby10,1000r1000 | 2 [ 8 | 15
Long x and long + 26 | 28
Fractions 91N |(12]14 16|20
Missing numbers 510 (19212324
Brackets 18 | 22
+ 27
- 119110 M|183[18]19]2122]25
X 2 (31417 |8|10]712]14(16]20(22](28
+ 51614 |15(17 1823|2426
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